

M1226

Π. Παυλίδης II

Β. Κωνσταντίνου

Άσκηση 6

15/11/2012

$$\begin{aligned}
 1) \int_{\mathbb{R}} f(x, y) dy &= \frac{1}{2\pi} \frac{1}{(1+x^2)^{3/2}} \int_{-\infty}^{+\infty} \frac{1}{(1+z^2)^{3/2}} dz \quad \left(\begin{array}{l} \text{όπου:} \\ z = \frac{y}{\sqrt{1+x^2}} \end{array} \right) \\
 &= \frac{1}{2\pi} \frac{1}{(1+x^2)} \cdot 2 \int_0^{\pi/2} \frac{1}{(1+\varepsilon^2 \omega)^{3/2}} \frac{1}{\varepsilon \omega^2} d\omega \quad (\text{όπου: } \omega = \varepsilon \varepsilon \varepsilon z) \\
 &= \frac{1}{\pi} \frac{1}{1+x^2} \int_0^{\pi/2} \varepsilon \omega^2 d\omega = \frac{1}{\pi} \frac{1}{1+x^2} \quad (\Rightarrow f_X(x) = \frac{1}{\pi} \frac{1}{1+x^2}) \quad \forall x \in \mathbb{R}.
 \end{aligned}$$

Άρα:

$$\int_{\mathbb{R}} \int_{\mathbb{R}} f(x, y) dx dy = \int_{\mathbb{R}} \frac{1}{\pi} \frac{1}{1+x^2} dx = 1$$

$$\begin{aligned}
 2) \int_{\mathbb{R}} f(x, y) dy &= \frac{\Gamma(\alpha+\beta+\delta)}{\Gamma(\alpha)\Gamma(\beta)\Gamma(\delta)} x^{\alpha-1} 1(x>0) \int_{\mathbb{R}} y^{\beta-1} (1-x-y)^{\delta-1} 1(y>0) \cdot \\
 &\cdot 1(x+y<1) dy = \frac{\Gamma(\alpha+\beta+\delta)}{\Gamma(\alpha)\Gamma(\beta)\Gamma(\delta)} x^{\alpha-1} 1(x>0) (1-x)^{\beta+\delta-1} \int_0^{1-x} z^{\beta-1} (1-z)^{\delta-1} dz \cdot 1(x<1)
 \end{aligned}$$

$$\left(\begin{array}{l} \text{όπου:} \\ z = \frac{y}{1-x} \end{array} \right) = \frac{\Gamma(\alpha+\beta+\delta)}{\Gamma(\alpha)\Gamma(\beta)\Gamma(\delta)} x^{\alpha-1} (1-x)^{\beta+\delta-1} \frac{\Gamma(\beta)\Gamma(\delta)}{\Gamma(\beta+\delta)} 1(0<x<1)$$

$$= \frac{\Gamma(\alpha+\beta+\delta)}{\Gamma(\alpha)\Gamma(\beta+\delta)} x^{\alpha-1} (1-x)^{\beta+\delta-1} 1(0<x<1) \quad (\Rightarrow X \sim \text{Beta}(\alpha, \beta+\delta))$$

$$\Rightarrow \iint_{\mathbb{R}^2} f(x, y) dx dy = \int_{\mathbb{R}} f_X(x) dx = 1.$$

$$3) P_{X+Y}(z) = P(X+Y=z) = \sum_{x \in \mathbb{N}_0} P(X+Y=z | X=x) P(X=x) =$$

$$= \sum_{x=0}^{\infty} P(Y=z-x | X=x) p_X(x) = \sum_{x=0}^{\infty} P(Y=z-x) p_X(x) =$$

$$= \sum_{x=0}^{\infty} \frac{e^{-\lambda} \lambda^{z-x}}{(z-x)!} 1(z-x \in \mathbb{N}_0) \frac{e^{-\lambda} \lambda^x}{x!} = \frac{e^{-(\lambda+\mu)}}{z!} \sum_{x=0}^z \binom{z}{x} \lambda^{z-x} \mu^x =$$

$$= \frac{e^{-(\lambda+\mu)}}{z!} (\lambda+\mu)^z \quad \forall z \in \mathbb{N}_0 \Rightarrow Z := X+Y \sim \text{Poisson}(\lambda+\mu). \Rightarrow$$

$$\Rightarrow P(X=x | X+Y=z) = \frac{P(X=x, X+Y=z)}{P(X+Y=z)} = p(z)^{-1} P(X=x, Y=z-x) =$$

$$= \frac{p(z)^{-1} P(X=x) P(Y=z-x) \mathbb{1}(x, z-x \in \mathbb{N}_0)}{e^{-(\lambda+\mu)} (\lambda+\mu)^z / z!} =$$

$$= \frac{(e^{-\lambda} \lambda^x / x!) (e^{-\mu} \mu^{z-x} / (z-x)!) \mathbb{1}(\mathbb{N}_0 \ni x \leq z \in \mathbb{N}_0)}{e^{-(\lambda+\mu)} (\lambda+\mu)^z / z!}$$

$$= \binom{z}{x} p^x (1-p)^{z-x} \mathbb{1}(x \in \{0, 1, \dots, z\}) \mathbb{1}(z \in \mathbb{N}_0), \text{ όπου } p = \frac{\lambda}{\lambda+\mu}$$

$\Delta_{\lambda, \mu}; X | X+Y=z \sim \text{Bi}(z, p) \cdot \forall z \in \mathbb{N}_0.$